
Math 295 Quiz 9 March 18, 2020

Name:

Problem 1: If you are comfortable, please let me know where you are joining us from
today. Who else lives there? Are there cases in your area? How worried are you? Do
you have internet and your own laptop? Is there anything you would like me to know?

If you are not comfortable answering, please still scan a piece of paper and upload it to
practice :)

Solution: Consider the open set (1, 3) ⊂ R. Then h−1((1, 3)) = [0,∞), which is not
open. Therefore h is not continuous.


